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(iii) Appeal to Force

cfu qfrd

(iv) Argument from Ignorance

snrr{ilfi il+as
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l. Answer any two of the following : (s+5= l0)

ffiiwsrtffftgr

(i) What is an argument? How is deductive

argument different from inductive argument?

r$ wr Bt Frrfirmo a-d onrm-qrirr* Ed t ftq
von frq l?

(ii) What is the relation between truth and validity?

Explain with examples.

Tsfl sk atrdr A +q flI frr *? vErdrul qF{

wFflr{gl

(iii) What do you mean by distribution of terms?

Explain with examples.

qA + qrq6-dr t enq wr qrff+ *? sEr6{ur qB{

q.Fn{gl

(iv) Distinguish between sentence and proposition.

q-fl *r ndq@ + {q srilr str

(b) Use truth table method to determine the following

statement forms as tautology, self-contradictory

or contingent. (6)

Tsdr {Rft FE <m q5 ffuiRil ql ffifr+t qcfi

{-go, qrrq qr qrqrfr *:

[(-pvq): q]: [-p: r]

Or

[(p l q) : (-q: r)] l [(p v r)]

Explain any two informal fallacies giving examples:

(s+5=10)

€ffi 6 $nffi6 effi qr qoiT 6i'

(i) The Appeal to Pity

qqr{-{m, n-faq

(ii) Fallacy of Composition
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ftqrfrFe-d SkA t t ffi vo d +rdr,/3T&rdr irqdr

ffiff frE am ftuffu at,
(a) Give the Conversion, Obversion and Contraposition

of any two of the following : (2+2+4=g)

ftc.Tq il+qrq+ t + Eid d ql qRrSq, yM< r'e

cfrqft{dT 6t:

(i) Some professors are doctors.

Es i+ct d,-+a *r

(ii) No chairs are tables.

+{ Etrd tq rfi dr

(iii) All philosophers are logicians.

{fr arh*. t-+ffi *r

(iv) Some bureaucrats are not sensitive.

1-s +otrrrd fi-c-irfi-d qfi di *r

(b) If 'No saints are criminals' is True, state its
opposite propositions and determine their truth
values. (3)

2044 3

2

(i)p:(q::-r)

qrp l.'.r=p

5 (a) Check validity using shorter truth table method.

(Any one) (4)

n{gili {sfl r<ot enr *r<r,u oritnr afr uru of , (at$

\t6'')

(i) (p: q)

(ii) (p = q). (c = r)

(ii) (p: -q)

/.'. (q: r)

(-q : r) /.. (p : -r) )

(-q v r) l.'. p v r
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qe '+{ rd 3{q{rft aff l' q-s B, i\ {cd ffid
H+qr@ TdEq Bilr 3TS rre ae) qir frqkur dfrql

(c) If 'Some saints were martyrs' is True, what may

he inferred about the truth or falsehood of the

following propositions? (Do any two) (4)

uR "q6 E( nfi-{ t'{s + ,+ ft+ Gs ry nffi
+ {d + sft i @r iqcr< m{nqr vI RtEiIT t' (6t€

ad)
(i) All saints were rnartyrs.

rS qt rrfi-E tr

(ii) All saints were non-martyrs

aS rrf, u-{r&-{ tr

(iii) Some martyrs were salnts.

Ao rr&-c rt tr

(iv) All martyrs were non-saints

(iii) He is neither punctual nor intelligent.

(P, I)

q6 q + rqq q'r qr€ B *t q ff sB{r{r

(iv) She is a good student therefore she is

appreciated by all. (G, A)

qE \qi B[d Erdr + {sfrS (rft 3sfr rrG-fl

oG ir

(v) He runs fast but could not get the bus. (R,

B)

aa te *wr i tfu-+ es r& fi-a qrfrt

(vi) He will go to Oxford if and only if he

scores well in Logic. (O, L)

{6 d-fifr€ qtgrll qR 3i{ +{d arft ws qd

ildrre n ir6l 3l-6' cr< 6{dr +t

(b) Check the validity of the given argument by Truth

table method. Do any one. (6)
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ffiF{d t t fr-d a qcgffi d itrmzs}mr

or qRqur +{Wfi grn *Mr

(i) Aoo-2

(iD Ero-l

(iii) rAr-3

4. (a) Symbolize the following. Do any four (4)

ffifrt qr yFrd-+tq qtr *{ ?rt qtr

(i) If you do not follow precautions then you

will be easily affected by Covid. (P, C)

qE snq qreurm 6r qr { Tfi od d fr wq

simff+dR-steqG(dvrctr

(ii) You will perform well if you practice

regularly. (P, R)

qfr Bnqffi-(6qt wqmort*fr i{Fr BIBT

e6fa aitr

58 2044

3 (a) Translate the following propositions into standard

lbrm categorical propositions : (Any four) (4)

Fr<Rfuf, il+qrd B1 -{d qrr*. enon i qE} : (at$

aR)

(i) Indians are hardly punctual

(ii) Bureaucrats are sensitive.

*otqn6 (ffim A+ Br

{tu rfur ?'r

(iv) Wise people are never greedy.

Skcr+ ArT mt arc* rfr *tr

(v) Dogs are carnivores.

))

gi qttnart *t *r

:nftq rrr+d * wq * crq{ a+ *r

(iii) Snakes are reptiles.I

))
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(vi) All that glitters is not gold.

Er qq-6fr i-m ft{r +fi *ftr

(b) Reduce the following syllogism into its standard

form indicating its mood & figure. (Do any one).

(4)

Fmfrfr{d qqgfu fr qpa5 effin t sEfrq (err sftFT

qrs \s srTR qdrs, *t o ffi Em EE+ Atrdr + Brq

+t:

Some philosophers are not liberals. All liberals are

successful person. Thus, some philosophers are

not successful persons.

Or

No cowards are creative persons because all

creative persons are active persons. Whereas, no

cowards are active persons.

2044 7

*€ tt orqr tq{rilo. qk Tff +dr dfu rfr r-qqrfls

qk (hq qk At *r wsfu +{ 6rct (ftq qk
+& *<rr

(c) Check the validity ofthe following syllogisms using

6 rules. (Any two) (4)

ffifr{d q + ffi a <Tqgffi d itrrrzsr*rrr

6r qRqur 6i. m- anr dffir

(D EIO I

(iD rAr - rv

(iii) EAE - ril

(iv) AEE - II

(d) Test the validity of the following categorical

syllogisms using Venn diagram technique. Do any

two. (6)
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